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> HE. 16cm?

54 CD & AABC 9] Yol & o]5Hsinz




6. DABCD o4 AD //BC ©|2 A = AD A
, x o] 277
75,
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x=180°—(25°+75°) =80°
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14. o IdAA 1)/ m olch. 13 m Ato]2] A2l 15¢m, BC = 16em
o wj, AABC, AA’BC, AA”BC 2] Ho]9] H]=?

A A A I
|
15cm
|\
\
[ m
B~<16em-"C
D)1:1:1 @ 1:2:1 ®1:2:3
@ 2:1:2 ® 2:3:1

Al He] Aztg o) W, ole] Zojz} Zomz
AABC = AA’BC = AA”BC =

= 120(cm?)
. AMABC : AA’'BC : A AVBC=1:1:1




15. o5 293 Zo] gABCD 7} HaAMH P o]al APBC = 14cm? ¢ o,

= O HYH Y o] Ul L
T TT’: Pjﬂ] o]t‘r)

A P D
B C
@ 13cm? @) 14cm? @ 15cm?
@ 16cm? ® 17cm?
A P D
:
]
]
]
I
B C
APBCS} ADBCE @ 9] Zo] BCe} o7t gonz
ADBC = APBC = 14(cm?) ©]t}.




16. o3 293} o] gABCD 7t HJA
A2 e F20] Hol & otofeh (% %*&*Eﬁ&t}.)

A P

w

\VARR 4
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14

H o] APBC = 14cm? & o,
e

APBC 2t AABCE 2RI Zo] BC%t o7t Zon=
AABC = APBC = 14(cm?) o]t}




17. oh& 293} 2] AD//BC <1 AfthelE ABCD 4] AABO = 20cm’
,2DO = BO ¢ 4}, ADBC 9] 4lo]&?

0)
B C
@ 40cm? @ 50cm? 3)60cm?
@ 70cm? ® 80cm?

S5 \
AAOB = ACOD = 20cm?

&, 2DO = BO o2&

- ABOC = 40cm?

w2t ADBC = ACOD + ABOC = 20 + 40 = 60(cm?)
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22,

t}S 3L gABCD 9] ¥ BC o 93
2ol AC // DE 7} 94 A E & &8 Zojtt,
OABCD 9] ¥°]7} 30cm? ¥ W], AABE 9]

Hol=?

A}

re
o)

M

@D 15em? @ 20cm? @ 25cm?
@30 cm? ® 60cm?

B

AC //DE ©]2& AACD = AACE ©]t}.
AABE = AABC + AACE

= AABC + AACD

= oABCD

. AABE = 30( cm?)




23. o2 1T} S AABCOA AD:DB=1:1,DO:0C =1:6,
AF : FC = 1:3°]th, AABC2] Ho|7l 560 Y W], ACOF o] Hol&
ot 2t

A
F
D
)
B C
> £
[> Heh: 180

B ~

ACAD : ACBD =1:1°]22

ACAD = %AABC = % X 560 = 280

AOE 1°2W AADO: AACO=1:6°|2&
AACO = gACAD = g X 280 = 240

T AAOF : ACOF =1: 30|22

ACOF = %AACO = % X 240 = 180




24. o 79 YA ABCD o4 AC // EF ©]aL AAED = 100cm?
d i, AACF ] Wolg Fstefet. (&, &9= f%* grettt)

A D

E

B

[ 2
> ®eh 100

o]7} Zo} AAED = AACE©] XL
o]7} Zxo} AACF = AACE




25. the 1d3} o] AD//BC 9l AltkalZ ABCD oA OD : OB = 2: 3
oltt. AOCB 9] Ho|7} 18 ¢ wff, bABCD 9] Bl o] & +5tof=t.

A D

50

AV 4
0x
i

~&B

ACOD : ABOC =2:3 0|22
ACOD:18=2:3 .. ACOD =12
ojmf AABD = AACD ©|E 2
AOBA = ACOD = 12

T, AAOD: AAOB=2:390]|22
AAOD:12=2:3 .. AAOD =38
.. OABCD =8+12+ 12+ 18 =50




26. ThS 17} Zo] AD//BC 91 AlthalE ABCD oA OA : OC =1: 2
olt}. AAOD = 48cm? ¥ wj, DABCD 2] Ho]=?

A D
(9)
B C
@432cm2 @ 480cm? @ 562cm?
@ 600cm? ® 642cm?

S5 \
AAOD : ACOD =1:2 0|22

48 : ACOD =1:2 .. ACOD = 96 cm?

ojmj AABD = AACD ©|E&

AABO = ACOD = 96 cm?

E AABO:ACOB=1:29°]E=2

96 : ACOB=1:2 .. ACOB = 192 cm?

. OABCD = 48 + 96 + 96 + 192 = 432( cm?)
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® ACFD @ AEFC
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0x
iy
@

BD // EF Y& o|-&3fof 3t
AEBD = aEBC, AEBD = AFDB = ACFD




28. 2 1A BD:CD=2:1,AE: CE = A
2:3,AP :DP =1:1°]t}. AABC =

30cm? Y 1, AAPE ¢ Ho| 2 2slodal, E

B S—C
> = cm’
> det 2 cm?

AAPE = AABE - AAPB o[t}
AABE:3OX§: 12

2 1
AABD:3OX§ =20, AAPB:AABDX§ =10

we}A] AAPE = AABE - AAPB = 12 - 10 = 2(cm?)




29. T2 IHo|4 AD//EC, BD: DC = 1:29°]1, AB = 6cm, BC =
9cm @ T, AADE 9] Yl o]& 5lod et

E
/
!
]
6cm
\
\

B\\ D /// C
~~9cm-
=i cm?2

AABD ¢} AADC oA ol 23 W2 1:20]22 AABD :
AADC =1:2

AADC = AABC x

1 2
= — _:1 2
112 2x6><9><3 8(cm?)

AD //ECO|2& AADEAADC ¢] Wi} o] 7} 2},




30. ©& O¥oA AE = EF = FD, BG =
ABGE CDFH _
o +o o] g Fotol,

oEFHG

A~E p
D

AABC = 3AAHC, ACAD = 3ACAE
OABCD = AABC + ACAD

= 3AAHC + 3ACAE
= 3(AAHC + ACAE)
= 30AHCE---Q
OAHCE = AEHC + AHAE
= AEGH + AHEF
= oEGHF---©
w2tA @), ©4] DABCD = 30EGHF 0|22
~ DABGE + oCDFH
- oEFGH
oABCD - oEGHF
B GHF
_ 20EFGH

" OEFGH
=2




31. o2 I3 A AC//DE ©]1 AABC = 135cm? ©]t}. BC = 15cm ,
CE = 9cm ¥ 1, AACD 9] HolE Falofat,

D

B L

=

~15¢cm- "C 9cm

[

>
> ®ehl 81cm?

AB =135%x2+15 = 18(cm)

AACD = AACE = % X 9 x 18 = 81(cm?)




32. tS 1A AttE]lE ABCD = AD//BC,A0:CO=1:2°]1
AFh2]ZE ABCD 9] Yol 27cm? € ©, AABO 9] Hol=?

A D
(9)
B C
D)6cm? @ Tcm? @ 8cm?
@ 9cm? ® 10cm?

S5 ~
0ABCD = AAOD + ADOC + AOBC + AABO °]t}.

AAOD 9 HolE gl 6HH, 1:2=a: ADOC, ADOC = 2a
ADOC = AABO =2a,1:2=2a: ABOC, ABOC = 4a
OABCD = a + 2a + 2a + 4a = 9a = 27cm? , a = 3cm?

. AABO = 2a = 6cm?







